Polynomial Parents of Some Binomial Congruences and Fermat Quotients

Enoch Suleiman B. Sury^{*}

Received 28 January 2025; Revised 01 March 2025; Accepted 03 March 2025; Published 04 March 2025

Abstract: The main purpose of this article is to observe and use some rather simple polynomial identities to deduce some congruences involving binomial coefficients and Fermat quotients. Thus, the consequential identities or congruences may consider the polynomial identity as a parent. We point out that our purpose here is modest, in observing how some simple polynomial identities can lead to congruences for Fermat quotients etc. Indeed, some more general congruences are known in literature which connect Fermat quotients with Bernoulli numbers and harmonic sums, etc. In what follows, we do not spell out which of our identities are known in more general forms by other methods. This article is partly expository.

AMS Classification: 11B65, 11A07, 05A10, 11B50.

Key words and phrases: Polynomial identities, Fermat quotients, Congruences modulo prime powers.

1 Introduction

The starting point is almost two centuries back when Eisenstein proved a congruence satisfied by the Fermat quotient $\frac{2^{p-1}-1}{p}$ which also mysteriously appears in Wieferich's criterion in the first case of Fermat's last theorem. Since then Glaisher, Granville, Jothilingam, Emma Lehmer, Mestrovic, Ribenboim, Z.-H. Sun, Tauraso etc. have proved many other interesting congruences. We stress at the outset that all the polynomial identities in this article are elementary; it is the way of applying them that may be of interest. For these, the interested reader may consult [3], [2], [1], [4], [6], [7] and the references within them.

2 Congruences for Fermat quotients mod *p*

Eisenstein had proved for an odd prime that, modulo p, we have

$$\frac{2^{p-1} - 1}{p} \equiv \sum_{j:odd, \ j < p-1} \frac{1}{j}.$$

^{*}I express my appreciation for the support extended by Prof. Anupam Saikia and Prof. Manjil Saikia.

In what follows, for rational numbers $\frac{a}{b}$, $\frac{c}{d}$ and a prime number *p* not dividing the denominators *b*,*d*, one writes the congruence $\frac{a}{b} \equiv \frac{c}{d}$ modulo *p* to mean that p|(ad - bc). It is possible to deduce Eisenstein's congruence, Glaisher's congruence, and some others by exploiting the polynomial identity below, which is self-evident.

Polynomial Identity I. For any integer $m \ge 1$, we have the polynomial identity

$$\frac{x^m - x}{m} = \sum_{r=1}^{m-1} \binom{m}{r} \frac{(x+1)^r (-1)^{m-r}}{m} + \frac{(x+1)^m - x + (-1)^m}{m}.$$
(1)

Lemma 2.1. For any integer $n \ge 2$ and any odd prime p, we have the following congruences modulo p:

$$\frac{n^p - n}{p} \equiv -\sum_{r=1}^{p-1} \frac{1^r + 2^r + \dots + n^r}{r}.$$
(2)

$$\frac{n^p - n}{p} \equiv -\sum_{r=1}^{p-1} \frac{(-1)^r (1^r + 2^r + \dots + (n-1)^r)}{r}.$$
(3)

In particular, modulo p, we have:

$$\frac{2^{p-1}-1}{p} \equiv -\frac{1}{2} \sum_{j=1}^{p-1} \frac{2^j}{j} \equiv -\frac{1}{2} \sum_{j=1}^{p-1} \frac{(-1)^j}{j} \equiv \frac{1}{2} \sum_{j=0}^{p-2} \frac{1}{\binom{p-2}{j}}.$$
(4)

$$\frac{2^{p-1}-1}{p} \equiv \sum_{j:\text{odd, } j < p-1} \frac{1}{j} \equiv -\frac{1}{2} \sum_{j=1}^{(p-1)/2} \frac{1}{j}.$$
(5)

Proof. It follows from (1) for m = p that:

$$\frac{a^p - a}{p} = \frac{(a+1-1)^p - a}{p} = \sum_{r=1}^{p-1} \binom{p}{r} \frac{(a+1)^r (-1)^{p-r}}{p} + \frac{(a+1)^p - (a+1)}{p}.$$

We claim that, modulo *p*,

$$\frac{a^p - a}{p} \equiv \sum_{r=1}^{p-1} \frac{(a+1)^r}{r} + \frac{(a+1)^p - (a+1)}{p}.$$
(6)

In the above, we used the observation that if *p* is an odd prime and 0 < r < p, then the integer $\frac{1}{p} {p \choose r} \equiv \frac{(-1)^{r-1}}{r}$ mod *p*. This is so because

$$\frac{1}{p}\binom{p}{r} = \frac{(p-1)(p-2)\cdots(p-r+1)}{r!} \equiv \frac{(-1)^{r-1}(r-1)!}{r!} = \frac{(-1)^{r-1}}{r}.$$

Putting a = 0 gives the well-known congruence

$$\sum_{r=1}^{p-1} \frac{1}{r} \equiv 0 \mod p.$$

Thus, the second congruence in (4) is an equivalent version of Eisenstein's congruence, which is the first one in (5).

To prove the third congruence in (4), note that

$$\frac{1}{\binom{p-2}{j}} = \frac{j!}{(p-2)(p-3)\cdots(p-1-j)} \equiv \frac{j!}{(-1)^j(j+1)!} = \frac{(-1)^j}{j+1}.$$

Summing over *j* from 0 to p-2 gives (with j-1 in place of *j*) the sum $\sum_{j=1}^{p-1} \frac{(-1)^{j-1}}{j}$ which is the second congruence of (4).

Putting a = 1 and a = -2 in the first congruence gives two of the congruences in the Lemma. Inductively, from (6), one gets then that

$$\frac{n^p - n}{p} \equiv -\sum_{r=1}^{p-1} \frac{2^r + \dots + n^r}{r} \mod p.$$

When p is an odd prime, $\sum_{r=1}^{p-1} \frac{1}{r} \equiv 0 \mod p$ (indeed, it is even zero modulo p^2 when p > 3 by Wolstenholme's theorem). Thus, we have the more symmetric form asserted as (2). Finally, (3) is gotten similarly to (2) inductively from (6) by putting a = -2, -3, -4 etc.

Clearly, using the fact that $\sum_{j \le p-1} \frac{1}{j} \equiv 0 \mod p$, one has the two congruences in (5). This completes the proof of the lemma.

3 Congruences modulo p^2

We prove a couple of polynomial identities, which are then used to obtain different congruences for Fermat quotients modulo p^2 . Many authors (for example, see [6], [4], [3]) have obtained similar and, sometimes, more general congruences.

Lemma 3.1. Polynomial Identity II. For any odd positive integer n,

$$\sum_{r=1}^{n} \frac{(-1)^{r-1} x^r}{r} = \sum_{r=1}^{n} \binom{n}{r} \frac{(-1)^{r-1} (x+1)^r}{r} + \sum_{r=1}^{n} \frac{(-1)^r}{r} \binom{n}{r}.$$

Proof. Consider the evident identity

$$x^{n} = \sum_{r=1}^{n} \binom{n}{r} (x+1)^{r} (-1)^{r-1} - 1.$$

As *n* is odd, we have

$$1 - x + x^{2} - \dots + x^{n-1} = \frac{x^{n} + 1}{x+1} = \sum_{r=1}^{n} \binom{n}{r} (-1)^{r-1} (x+1)^{r-1}.$$

Integration gives

$$x - \frac{x^2}{2} + \dots + \frac{x^n}{n} = \sum_{r=1}^n \binom{n}{r} (-1)^{r-1} \frac{(x+1)^r}{r} + c,$$

for some constant c. Putting x = 0, we obtain $c = \sum_{r=1}^{n} \frac{(-1)^r}{r} \binom{n}{r}$. Thus, we have the asserted polynomial identity:

$$\sum_{r=1}^{n} \frac{(-1)^{r-1} x^r}{r} = \sum_{r=1}^{n} \binom{n}{r} \frac{(-1)^{r-1} (x+1)^r}{r} + \sum_{r=1}^{n} \frac{(-1)^r}{r} \binom{n}{r}.$$

Note, in passing, that by comparing coefficients of x^2 and x^3 , we get

$$n = \sum_{r=1}^{n-1} (-1)^r \binom{n}{r} (r-1);$$

(n-1)(n-2) = 2 + $\sum_{r=1}^{n-1} (-1)^r \binom{n}{r} (r-1)(r-2).$

We now use the above polynomial identity to deduce a congruence for the Fermat quotient modulo p^2 .

Proposition 3.2. For any prime p > 3,

$$\frac{2^{p-1}-1}{p} \equiv \sum_{r=1}^{p-1} \frac{-2^{r-1}}{r} \mod p^2.$$

Proof. In the polynomial identity

$$\sum_{r=1}^{n} \frac{(-1)^{r-1} x^r}{r} = \sum_{r=1}^{n} \binom{n}{r} \frac{(-1)^{r-1} (x+1)^r}{r} + \sum_{r=1}^{n} \frac{(-1)^r}{r} \binom{n}{r},$$

take x = -2. We obtain

$$-\sum_{r=1}^{p} \frac{2^{r}}{r} = -\sum_{r=1}^{p-1} {p \choose r} \frac{1}{r} - \frac{2}{p} + \sum_{r=1}^{p-1} {p \choose r} \frac{(-1)^{r}}{r}.$$

Rewriting this, we have

$$\frac{2^{p}-2}{p} + \sum_{r=1}^{p-1} \frac{2^{r}}{r} = 2 \sum_{r:\text{odd, } r < p} \binom{p}{r} \frac{1}{r} \cdots (\diamondsuit)$$

Therefore, the proposition will follow if we show that for $p \ge 5$,

$$\sum_{r:\text{odd, } r < p} \binom{p}{r} \frac{1}{pr} \equiv 0 \mod p.$$

Now for $1 \le r \le p - 2$ with *r* odd, we have, modulo *p*,

$$\frac{1}{pr}\binom{p}{r} = \frac{(p-1)(p-2)\cdots(p-r+1)}{r^2} \equiv \frac{1}{r^2}$$

since r is odd. Therefore,

$$\sum_{r:\text{odd, } r < p} \binom{p}{r} \frac{1}{pr} \equiv \sum_{r:\text{odd, } r < p} \frac{1}{r^2} \equiv \frac{1}{2} \sum_{r=1}^{p-1} \frac{1}{r^2}$$

since $(p-r)^2 \equiv r^2 \mod p$ and p-r runs through the even integers < p when r runs through the odd integers < p. But,

$$\sum_{r=1}^{p-1} \frac{1}{r^2} \equiv \sum_{d=1}^{p-1} d^2 = \frac{(p-1)p(2p-1)}{6} \equiv 0$$

if $p \ge 5$. Therefore, the proposition is proved.

A striking consequence of the polynomial identity II is an identity involving the harmonic numbers; this is:

Corollary 3.3. (of Polynomial Identity)

$$H_n := \sum_{k=1}^n \frac{1}{k} = \sum_{k=1}^n \binom{n}{k} \frac{(-1)^{k+1}}{k}.$$

Proof. The polynomial identity can be rephrased as

$$\sum_{k=1}^{n} \frac{(1-x)^k}{k} = \sum_{k=1}^{n} \binom{n}{k} \frac{(-1)^k (x^k - 1)}{k},$$

and, can be integrated to yield

$$\sum_{k=1}^{n} \frac{(1-x)^{k+1}}{k(k+1)} = \sum_{k=1}^{n} \binom{n}{k} \frac{(-1)^{k+1}}{k} \left(\frac{x^{k+1}}{k+1} - x\right) + C,$$

where we get $C = \sum_{k=1}^{n} {n \choose k} \frac{(-1)^{k+1}}{k+1}$ by putting x = 1. Equating the coefficients of x on both sides of the polynomial identity gives us the identity:

$$H_n := \sum_{k=1}^n \frac{1}{k} = \sum_{k=1}^n \binom{n}{k} \frac{(-1)^{k+1}}{k}$$

Here are some more consequences of the same polynomial identity used in the proposition.

Lemma 3.4. For all positive integers n, the following identities hold good:

4

$$\sum_{r=1}^{n} \frac{2^r - 1}{r} = \sum_{r=1}^{n} \binom{n}{r} \frac{1}{r};$$
$$\sum_{r=1}^{n} \frac{2^r - r - 1}{r(r+1)} = \sum_{r=1}^{n} \binom{n}{2r} \frac{1}{2r(2r+1)}.$$

Also, we have the polynomial identity:

$$y\sum_{r=1}^{n}\frac{y^{r}-r-1}{r(r+1)} = \sum_{r=1}^{n} \binom{n}{r}\frac{(y-1)^{r+1}-(-1)^{r+1}}{r(r+1)}.$$

Proof. Again, consider the polynomial identity

$$\sum_{r=1}^{n} \frac{(-1)^{r-1} x^r}{r} = \sum_{r=1}^{n} \binom{n}{r} \frac{(-1)^{r-1} (x+1)^r}{r} + \sum_{r=1}^{n} \frac{(-1)^r}{r} \binom{n}{r}.$$

Using

$$\sum_{k=1}^{n} \frac{1}{k} = \sum_{k=1}^{n} \binom{n}{k} \frac{(-1)^{k+1}}{k}$$

the polynomial identity can be rewritten (with *y* in place of -x) as:

$$\sum_{r=1}^{n} \frac{y^{r} - 1}{r} = \sum_{r=1}^{n} \binom{n}{r} \frac{(y-1)^{r}}{r}.$$

Putting y = 2 in this gives us the first identity of the lemma. Finally, integrating it and determining the constant of integration, one obtains the polynomial identity:

$$y\sum_{r=1}^{n}\frac{y^{r}-r-1}{r(r+1)} = \sum_{r=1}^{n} \binom{n}{r}\frac{(y-1)^{r+1}-(-1)^{r+1}}{r(r+1)}$$

Evaluating the polynomial identity at y = 2 gives us the second identity in the lemma.

Corollary 3.5. (*Consequence of Z.-H. Sun's congruence*). *For any odd prime p, we have*

$$\sum_{i=0}^{p-1} \frac{1}{\binom{p-1}{i}} \equiv \frac{1}{2^{p-1}} \left(1 - \frac{7p^3 B_{p-3}}{24} \right) \mod p^4$$

where B_{p-3} is the (p-3)-th Bernoulli number.

Proof. Here, we use a beautiful, nontrivial congruence due to Z.-H. Sun, who proved in 2008, that

$$\frac{2^p-2}{p} + \sum_{r=1}^{p-1} \frac{2^r}{r} = \frac{-7}{12} p^2 B_{p-3} \mod p^3.$$

In [9], we had shown for any positive integer n that

$$\sum_{i=0}^{n} \frac{1}{\binom{n}{i}} = \frac{n+1}{2^{n}} \sum_{j \text{ odd}} \binom{n+1}{j} \frac{1}{j}.$$

Applying this to n = p - 1 for an odd prime p, we have

$$\sum_{i=0}^{p-1} \frac{1}{\binom{p-1}{i}} = \frac{1}{2^{p-1}} + \frac{p}{2^{p-1}} \sum_{j \text{ odd}, j < p} \binom{p}{j} \frac{1}{j}.$$

Recall that earlier from a polynomial identity, we had observed for any odd prime p that

$$\frac{2^{p}-2}{p} + \sum_{r=1}^{p-1} \frac{2^{r}}{r} = 2 \sum_{r:\text{odd, } r < p} \binom{p}{r} \frac{1}{r} \cdots (\diamondsuit)$$

Combining this with Sun's congruence, and using (\diamondsuit) , we obtain that

$$\sum_{rodd,r< p} \binom{p}{r} \frac{1}{pr} \equiv \frac{-7}{24} p B_{p-3} \mod p^2.$$

Therefore, we have the assertion of the corollary.

Corollary 3.6. For odd primes $p \ge 5$,

$$\sum_{j \text{ odd}, j < p} \binom{p}{j} \frac{1}{j} \equiv \frac{7}{8} \sum_{r=1}^{p-1} \frac{1}{r} \mod p^3.$$

Proof. Let p > 3 be a prime. The sum $\sum_{r=1}^{p-1} \frac{1}{r}$ is known to be $\frac{-p^2}{3}B_{p-3} \mod p^4$, the identity (\diamondsuit) and Sun's identity above imply the assertion.

Remark. It would be interesting to find an elementary proof of the Corollary without using Sun's rather nontrivial result.

We have already proved a congruence for $\frac{2^p-2}{p}$ modulo p^2 . In 1985, Jothilingam [4] proved a congruence that involves an ordered choice of quadratic residues. Below, we prove a different, simpler congruence. The authors in [3] have also proved such a congruence, using the polynomial identity appearing below.

Lemma 3.7. (Polynomial Identity III.)

$$\sum_{r=0}^{n-1} \frac{(1-x)^r}{r+1} = \sum_{r=0}^{n-1} \binom{n}{r+1} \frac{(-1)^r}{r+1} \frac{x^{r+1}-1}{x-1}$$

Proof. Start with the elementary polynomial identity

$$-\sum_{k=1}^{n} (1-x)^{k-1} = \sum_{k=1}^{n} \binom{n}{k} (-1)^{k} x^{k-1}.$$

Integrating this, we have

$$\sum_{k=1}^{n} \frac{(1-x)^k}{k} = \sum_{k=1}^{n} \binom{n}{k} \frac{(-1)^k (x^k - 1)}{k}.$$

The above identity has been written after finding the constant of integration by putting x = 1. Rewriting the above identity by taking k = r + 1, we have the asserted polynomial identity:

$$\sum_{r=0}^{n-1} \frac{(1-x)^r}{r+1} = \sum_{r=0}^{n-1} \binom{n}{r+1} \frac{(-1)^r}{r+1} \frac{x^{r+1}-1}{x-1}.$$
(7)

As an application of the polynomial identity III, we get:

Theorem 3.8. For any $n \ge 1$, we have

$$\sum_{r=1}^{n} \frac{2^{r}}{r^{2}} = 2 \sum_{r=1}^{n} \binom{n}{r} \frac{(-1)^{r}}{r} \sum_{k \text{ odd}, k \le r} \frac{1}{k}.$$

In particular, for any odd prime p, we have

$$\frac{2^{p-1}-1}{p} - \sum_{r: \text{odd}, r < p} \frac{1}{r} \equiv -p \sum_{r=1}^{p-1} \frac{2^{r-1}}{r^2} \mod p^2.$$

Proof. For any $n \ge 1$, integrating (7) we have

$$\sum_{r=0}^{n-1} \frac{(1-x)^{r+1}}{(r+1)^2} = \sum_{r=0}^{n-1} \binom{n}{r+1} \frac{(-1)^{r+1}}{r+1} \left(x + \frac{x^2}{2} + \dots + \frac{x^{r+1}}{r+1} \right) + C,$$

where the constant C is obtained by putting x = 1 when the left hand side is 0. We obtain

$$C = \sum_{r=0}^{n-1} {n \choose r+1} \frac{(-1)^r}{r+1} \left(1 + \frac{1}{2} + \dots + \frac{1}{r+1}\right).$$

Let us consider x = -1 and n = p, for an odd prime p. We have

$$\sum_{r=0}^{p-1} \frac{2^{r+1}}{(r+1)^2} = \sum_{r=0}^{p-1} {p \choose r+1} \frac{(-1)^{r+1}}{r+1} \left(x + \frac{x^2}{2} + \dots + \frac{x^{r+1}}{r+1} \right)$$
$$+ \sum_{r=0}^{p-1} {p \choose r+1} \frac{(-1)^r}{r+1} \left(1 + \frac{1}{2} + \dots + \frac{1}{r+1} \right).$$

For $r , since <math>\binom{p}{r+1} \equiv 0 \mod p$, we have the corresponding sub-sum on the right-hand side to be

$$\sum_{r=0}^{p-2} {p \choose r+1} \frac{(-1)^{r+1}}{r+1} \left(x + \frac{x^2}{2} + \dots + \frac{x^{r+1}}{r+1} \right) \equiv 0 \mod p.$$

The single term corresponding to r = p - 1 is (as $\binom{p}{r+1} = 1$)

$$\frac{(-1)^p}{p} \sum_{d \le p} \frac{(-1)^d}{d} + \frac{(-1)^{p-1}}{p} \sum_{d \le p} \frac{1}{d} = \frac{-1}{p} \sum_{d \le p} \frac{(-1)^d - 1}{d} = \frac{2}{p} \sum_{d \ odd; d \le p} \frac{1}{d}$$

Therefore,

$$\sum_{r=0}^{p-1} \frac{2^{r+1}}{(r+1)^2} \equiv \frac{2}{p} \sum_{d \text{ odd}; d \le p} \frac{1}{d} \mod p.$$

Clearly, this is the congruence

$$\frac{2-2^p}{p^2} \equiv \sum_{r=1}^{p-1} \frac{2^r}{r^2} - \frac{2}{p} \sum_{r: \text{odd, } r < p} \frac{1}{r} \mod p,$$

which gives, on multiplying by p, the asserted congruence modulo p^2 in the theorem.

Corollary 3.9. (of Granville's Congruence) For any prime $p \ge 5$,

$$\sum_{rodd, r < p} \frac{1}{r} \equiv \frac{2^{p-1} - 1}{p} - \frac{p}{2} \left(\frac{2^{p-1} - 1}{p}\right)^2 \mod p^2.$$

Proof. The proof follows from the theorem above and Granville's congruence which asserts

$$\left(\frac{2^{p-1}-1}{p}\right)^2 \equiv -\sum_{r=1}^{p-1} \frac{2^r}{r^2} \mod p$$

for any prime p > 3.

7

4 More identities for Fibonacci, Lucas, and Bernoulli numbers

In the course of the proof of a lemma in the previous section, we had rewritten the polynomial identity II as:

$$\sum_{r=1}^{n} \frac{y^r - 1}{r} = \sum_{r=1}^{n} \binom{n}{r} \frac{(y-1)^r}{r}.$$

Here are some interesting consequences that we point out:

Lemma 4.1. For any positive integer n, we have

$$\sum_{r=1}^{n} \frac{\beta^{n-r}}{r} \left(F_r - \binom{n}{r} 5^{(r-1)/2} \right) = 0,$$

where F_r is the r-th Fibonacci number, and $\beta = \frac{1-\sqrt{5}}{2}$. Further, if B_k denotes the k-th Bernoulli number, we have for any positive integers n, N:

$$\sum_{r=1}^{n} \frac{1}{r(r+1)} \sum_{\ell=0}^{r} \binom{r+1}{\ell} (N+1)^{r+1-\ell} B_{\ell}$$
$$= N \sum_{r=1}^{n} \frac{1}{r} + \sum_{r=1}^{n} \frac{\binom{n}{r}}{r(r+1)} \sum_{\ell=0}^{r} \binom{r+1}{\ell} N^{r+1-\ell} B_{\ell}$$

Proof. The identity involving Fibonacci numbers is proved by taking $y = \alpha/\beta$, where $\alpha = \frac{1+\sqrt{5}}{2}$ and using the well-known identity $F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$.

To obtain the second identity, take repeatedly $y = 1, 2, \dots, N$ in the polynomial identity and use the well-known relation

$$\frac{1}{r+1}\sum_{\ell=0}^{r} \binom{r+1}{\ell} (N+1)^{r+1-\ell} B_{\ell} = 1^{r} + 2^{r} + \dots + N^{r}.$$

Earlier, we (as well as many others) have used the polynomial identity: **Polynomial Identity IV.**

$$\sum_{i\geq 0} (-1)^i \binom{n-i}{i} (xy)^i (x+y)^{n-2i} = \frac{x^{n+1} - y^{n+1}}{x-y}.$$

Among other things, one can deduce the classical identities for Fibonacci numbers:

$$F_{n+1} = \sum_{i \ge 0} \binom{n-i}{i} = \prod_{r=1}^{[(n-1)/2]} (3 + 2\cos 2\pi r/n)$$

This allows us to immediately deduce $F_m|F_n$ if m|n - see [8]. We mention in passing that, in [5], certain polynomial identities in several variables are obtained which leads to expressions for powers of a matrix and for multi-Fibonacci numbers. The following expression for the Lucas numbers is similar in spirit to the first expression for F_n , is a consequence of the above polynomial identity:

Lemma 4.2.

$$L_{2n} = 2n \sum_{i \ge 0} (-1)^i {\binom{2n-i}{i}} \frac{5^{n-i}}{2n-i};$$
$$L_{2n+1} = (2n+1) \sum_{i \ge 0} {\binom{2n+1-i}{i}} \frac{1}{2n+1-i}.$$

These expressions for the L_n 's can also presumably be deduced using the corresponding expression for the F_n 's above. One can integrate the above polynomial identity (written in one variable *x* as):

$$\sum_{i\geq 0} (-1)^i \binom{n-i}{i} (x^2 - x)^i = \frac{(1-x)^{n+1} - x^{n+1}}{1 - 2x}$$

to obtain:

Lemma 4.3. (Polynomial Identity V.) We have the polynomial identity

$$\sum_{i\geq 1} i \binom{n-i}{i} (x^2-x)^{i-1} = \frac{2(1-x)^{n+1} - 2x^{n+1} - (n+1)(1-2x)[(1-x)^n + x^n]}{(2x-1)^3}.$$

In particular, we have the identity:

$$\sum_{i\geq 1} 2^{i-1} i \binom{n-i}{i} = \frac{2(-1)^{n+1} - 2^{n+2} + 3(n+1)[2^n + (-1)^n]}{27}$$

Acknowledgments

It is a pleasure to thank the referee who went through the script and made several comments; addressing them carefully has led to much more clarity in this article.

References

- Mouloud Goubi, On combinatorial formulation of Fermat quotients and generalization, Montes Taurus J. Pure Appl. Math. 4 (1), 59-76, 2022.
- [2] H. W. Gould, Combinatorial Identities, revised edition (Gould Publications, 1972). 1
- [3] S. Khongsit, A. M. Buhphang, and P. K. Saikia, *A Congruence for the square of the Fermat quotient*, Math. Reports (Bucu) 24(74) (2022), 3,349-354 1, 3, 6
- [4] P. Jothilingam, Generalization of Eisenstein's congruence, Acta Math. Hung. 46 (1985), 265–267. 1, 3, 6
- [5] J. McLaughlin and B. Sury, *Powers of a matrix and combinatorial identities*, INTEGERS: Electronic Journal of Combinatorial Number Theory, Vol. 5 (2005), #A13. 8
- [6] R. Meštrović, Congruences involving the Fermat quotient, Czechoslovak Math. J. 63 (2013), 949-968. 1, 3
- [7] —, An Extension of a Congruence by Tauraso, ISRN Combinatorics Volume 2013, Article ID 363724, 7 pages http://dx.doi.org/10.1155/2013/363724 1
- [8] B. Sury, *Trigonometric expressions for Fibonacci and Lucas numbers*, Acta Math. Univ. Comenianae Vol. LXXIX, (2010), P. 199-208.
- [9] —, Sum of the reciprocals of the binomial coefficients, Eur. J. Comb. 14 (1993), No.4, 351–353. 6
- [10] Robert Tauraso, More Congruences for Central Binomial Sums with Fibonacci and Lucas Numbers, Journal of Integer Sequences, Vol. 26 (2023), Article 23.8.3.
- [11] —, *More congruences for central binomial coefficients*, Journal of Number Theory, vol. 130, no. 12, pp. 2639-2649, 2010.

ENOCH SULEIMAN AND B. SURY

AUTHORS

Enoch Suleiman Department of Mathematics, Federal University Gashua, Gashua, Yobe State, Nigeria. Email: enochsuleiman@gmail.com

B. Sury Stat-Math Unit, Indian Statistical Institute, 8th Mile Mysore Road, Bangalore 560059, India. https://www.isibang.ac.in/~sury Email: surybang@gmail.com

> DOWNLOADED FROM JAAM. AAMONLINE.ORG.IN PUBLISHED BY THE ASSAM ACADEMY OF MATHEMATICS